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If x,y,2z,t >0, x+y+z+t=1then:

z 1 >64-
x2+x~ 5

Proposed by Marin Chirciu-Romania

Solution by Tapas Das-India

Lemma:
1 - (176 — 384m)

vm>0, = ,
m?Z+m 25

Proof:
1 - (176 — 384m)
m?+m — 25 or

25 > —384m3 — 384 m? + 176m? + 176m or
384m3 + 208m? — 176m + 25 > 0 or
6(64m3) + 13(16m?) — 44(4m) + 25 > 0 or

6(4m)3 + 13(4m)? — 44(4m) + 25 > 0 or

4m=n>0

6n3+13n? —-44n+25 > Oor

(n—1)%(6n + 25) > 0 true

z 1 temma Z (176 — 384x)  (176).4—384(x+y+z+1t)
= 2 - -

x2 4+ x 5 25
_704—384( - +t_1)_320_64
=T 25 wsxTywmzal=l =57
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Equalityforx:y:zz1::Z



